Intermediate Algebra - Review for Test #2

ﬂ_l. slope-intercept formula
N_l slope

K?:. point-slope formula
0_4. additive inverse
j—_S. multiplicative inverse
iﬁ. distributive property

-‘r 7. associativity

g 8. dependent

L 9. distance formula

Qlﬂ. horizontalline
i 11. inconsistent

ilz midpointformula
.E_l?:. conditional

I14. contradiction
B_lS. vertical line

\‘ S 16. multiplicative identity
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C. system of equatiofis With only one solution
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17.Solveforx. 4[3+5(3—x)+2x]=2—2x

A [3415-5x+2%] =2-2x%

4 [18-3x1=2-2x
22-12x = 2-2X Zﬁj}
76 = [OXK

18. State whether the each of the following relations is a function (yes or no).

a.{(1,2),(2,3),(3.4), (4.2)}
ves
b. {(7.,5).(7,4),(7.3),(7.2)}
No

c {(21),(31), (41, (5.1}

DASEN

19, Evaluate F(—3), given that F(x) = x?> + 4x — 5.

F(P=(FracD-5 7 ;sc f@o—q%
=9-12-5 =[-%) g grh of

20. Find the distance between the points P, (—4, 4—) and P,(1,2).

d={ G X+ (yr-y )" s )
S s R
@ =04 46 =270

21. Find the midpoint ot the line segment be € points P;(3,—7) and P;(—1.5).

E32)-G3) 05D
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ction? List vour answer(s) usingthe roster method.

dorrarin ¢ TR
donain: x| xA4% = (- G 2=%)u(%, =)

domain: Ix| )(#—'ﬂ(i;(-ao )-Pbu(.q)o)

22. What values are excluded from the domaino

a. g(x) _ 2x+6 ¢
b. G(x) :i 343

C-f(X)=S {_ al‘g

—

23, State the domain of the function f(x) = T; in interval notation.

(- oo, ’2) (—2 oo>

24. Find the range of the functlo‘lﬁx) = 1i where the domain is restricted to the set {-2,0,2}. List your answers using

the roster method. rq ,\j e = OL‘\‘"F M+ 0’{ dWVLQI /)

7 arge - 3 Sj

25, Graph the linear function 2x —y = 3. Include labels on axes to indicate your scale, and label with an ordered pair
(x,y) the coordinates of each of the points you used to draw your line.

N
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25. Graph the linear function 2x — y = 3. Include labels on axes to indicate your scale, and label with an ordered pair
- Qx-:j =3
| ”5 -2%x+43
Y= =2X=>

R
\5 (oy

5)095 —2’-‘-

(x,y) the coordinates of each of the points you used to draw your line.

26. Find the x- and y-intercepts of the function 3x + 4y = —8.

x-intercept _ 8

(x)o) C 75, O

y-intercept:

Co)‘ﬁ) (OJ _

27. Find the slope of the line containing the points (— 25}and (3, -1).
5-(D_ & _[C&| -b
-2-3 S > >

28. Find the equation of the line that has slope 0 and passes through the point ( —4,7).
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29. Find the equation of the line that is parallel to the line 2x — 3y = 2 and passes through the point (6, —4).

= 5 3—_3 —W\(X'X) -35 —2x-fz_2

yeD:5e-e TS

\(j-l—ﬂ-:—/( 4_

=25 x-F

gl the vstqu atio 'f3 ists, give you erderedpar (o) 3X+2(LD 5

3x+2y=53<?'3 (p 4 ’IO
EHEY = -(::(Mc?:«z x=57%

G4 13y= 52 3k72
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